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The deficiency of Molybdenum, a trace
element present in the soil, causes.
A) Red rot of sugarcane
B) Whiptail disease of Cauliflower.
C) White rust disease of Amaranthus
D) Black rust disease of wheat
The resolving power of a telescope is
highest for.
A) Blue light B) Green light
C) Yellow light D) Red light
. Whisky and Brandy contain.
A) 80-90% ethyl alcohol
B) 25-30% ethyl alcohol.
C) 40-50% ethyl alcohol
D) 4-12% ethyl alcohol
Tuberculosis immunization was developed
by.
A) Albert Calmette B) Paul Ehrlich
C) Robert Koch D) Louis Pasteur.
If the total energy of a particle is thriceits
rest energy, then the velocity of the particle
is
(c = Velocity of light).
c 2c
A s B3
C) % D) /2 §
. Which of the following is-not recycled in an
eco-system?
A) Water B) Carbon
C) Nitrogen D) Energy
Consider the following statements:
Assertion(A) : Vitamin K deficiency leads to
haemorrhage.
Reason (R) : Folic acid deficiency leads to
Anaemia.
Now select your answer according to the
coding scheme given below:
A) Both (A) and ( R) are true and ( R) is the
correct explanation of (A).
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B) Both (A) and (R) are true, but ( R) is not
the correct explanation of (A).

C) (A)istrue, but (R) is false.

D) (A) is false, but (R) is true

Ammonotelism is common in.

A) Fishes B) Birds

C) Mammals D) Reptiles
During electrolysis of molten calcium
hydride.

A) Calcium is deposited at anode.
B) Hydrogen is liberated at anode.
C) Hydrogen is liberated-at cathode
D) Hydrogen‘and oxygen are liberated at
cathode and anode respectively.
The lasting'material in Ruby laser is.
A) Al,O5 B) Ni**
Q) V¥ D) Cr**
Longitudinal half of the chromosome is
called.
A) Centromere B) Chromatid
C) Chromatin D) None of these.
The term ‘gene’ was proposed by.
A) Bateson B) Punnet
C) Darlington D) Johannsen
Aqueous solution of which of the following is
a good conductor of electricity?
A) Ammonium acetate B) Glucose.
C) Ammonia D) Acetic acid.
When the polarizing angle for a dense flint
glass is 60°30), then its refractive index is
A) 1.333 B) 1.541
C) 1.627 D) 1.768
Endothecium and endothelium are structure
associated with.
A) Anther and Integument
B) Anther and Nucellus.
C) Integument and Anther
D) Anther and Ovary wall.
Match the List | with List Il correctly and
select your answer using the codes given
below:

List | List II.
a) Agqua culture 1. Silk.
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17.

18.
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23.

24.

b) Floriculture 2. Grapes.
c) Sericulture 3. Flower.
d) Viticulture 4. Fish.
Codes:

a b c d
A) 1 2 3 4
B) 3 2 1 4
C) 4 1 3 2
D) 4 3 1 2

In mitochondria, which of the following
process take(s) places?

A) Tricarboxylic acid cycle

B) Electrotransport system and Oxidative
phosphorylation.

C) B — oxidation of fatty acid.

D) All of these.

Synapse is seen in.

A) Nervous system

B) Digestive system

C) Excretory system

D) Reproductive system

Ammonia burnt with O2, liberate which of
the following ions/radicals?

A) NH";+0OH B) N, + H,O

C) NO, +H,0 D) Np+H,

Which of the following structuresiis involved
in the process of photo-respiration?

A) Lysosome B) Golgi-body

C) Peroxisome D) Ribosome
Visceral arches support.

A) Wall of the pharynx B) Viscera

C) Operculum D) Gill filament
The laws of-electrolysis are given by.
A) Ostwald B) Faraday

C) Arrhenius D) Lewis.

Electromagnetic waves were proposed by.
A). Newton B) Maxwell

C) Huygens D) Planck.

How many electrons can be accommodated
in d- orbital?

A) 3 B) 6

C) 10 D) 8

25.

26.

27.

28.

29.

30.

31.

32.

33.

One tesla is.

A) amp.m? B) weber

C) ampere turns- m™* D) weber m™
Which organelle in the cell, other than
nucleus contains DNA?

A) Golgi body B) Mitochondria
C) Lysosome D) Centriole.

The experiment to measure de Broglie
wavelength was first carried.out by.

A) Rutherford B) Bohr
C)Davisson- Germer. D) Albert Einstein.
An example of polycarpic plant is.

A) Pea B) Mango

C) Bamboo D) Pigeon pea.
The uncertainty-principle was proposed by.
A) .De Broglie B) Maxwell

C) Thomson D) Heisenberg.
The toxic carcinogenic metal ion in the
following is.

A) Cr° B) Cr**

C) cr* D) Cr®

Venturimeter is used to measure.

A) Fluid velocity

B) Fluid surface tension.

C) Fluid temperature

D) Fluid density

Physical Research Laboratory is located at.

A) Ahmedabad B) Bangalore

C) Kalpakkam D) Pune.

Consider the following statements:

Assertion (A) : Classification is the basis for

tabulation.

Reason(R) : First the data are classified and

then tabulated.

Now select your answer according to the

coding scheme given below:

A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

B) Both (A) and (R) are true, but ( R) is not
the correct explanation of (A).

C) (A)istrue, but ( R) is false.

D) Aisfalse, but (R) is true
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The bacterial cell wall consists of.

A) Cellulose B) Lignin
C) Mucopeptide D) Pectose.
The system of biological classification used
today was created by.
A) Charles Darwin  B) Carolus Linnaeus
C) Gregor Mendel D) Stephen Gould.
The disease diabetes mellitus is caused by
the deficiency of.
A) lodine B) Insulin
C) Vitamins D) Proteins
The specific rotation, if the plane of
polarization, is turned through 26.4°
traversing 20 cm length of 20% sugar
solution is.
A) 6.6° B) 0.66°
C) 66° D) 6°
Influenza A (HINI), earlier known as swine
flu was first detected in.
A) Thailand B) Costa Rica
C) Hong kong D) Mexico.
The Single membrane Surrounding
vacuoles in plant cells is known as.
A) Apoplast B) Symplast
C) Tonoplast D) Chloroplast
Who introduced the ‘binomial nomenclature
to name organisms?
A) C.Darwin B) G. Mendel
C) E.Mayer D) C.Linnaeus.
Which one of the following.is correctly
matched?
A) Dempster’s mass spectrograph

- Masses of isotopes.
B) Cathode ray oscilloscope

- Masses of atom
C) Coolidge tube

- Solar spectrum.
D) Cyclotron

- Thermal conductivity.
The famous book ‘Cell Biology’ was written
by.
A) Odum
C) Strickberger

B) De Roberties
D) Berril.
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The ground state energy of the electron in
the hydrogen atom is 13.6eV.The energy of
the state n =2 is.

A) 13.6eV B) 6.8eV

C) 4.5eV D) 3.4eV.

Amoebic dysentery is caused by.

A) Entamoeba coli

B) Entamoeba gingivalis

C) Entamoeba histolytica

D) Amoeba proteus

Which of the following_ is a natural polymer?
A) Celluolse B)Polystyrene

C) Polyethylene D) Nylon.

Botanical name of Turmeric is.

A) Azodirachta-indica

B) Hibiscus rosa- sinensis.

C) Curcuma domestica

D) Ammania baccifera.

GROUP — | [PRELIMS]- 2014

Which of the following is/are correctly
matched?

. Hard resin - Cocaine

Il.  Oleo resin - Canada balsam.
Il. Latex - Rubber.

IV. Alkaloid - Asafoetida

(A) 1 only (B) I and 1l

(C) ll only (D) land IV

Which one of the following statement(s)

about Blue Green Algae (BGA) is/are not

correct?

(A) They are gram negative photosynthetic
cyanobacteria.

(B) They have survived for about 3 billion
years.

(C) Spirulina is the edible form of BGA.

(D) Sargassum belongs to BGA.

The chromonema is a coiled structure,

which can be easily separated in case of.

(A) Paranemic coil  (B) Plectonemic coill

(B) Chromomeric coil (D) Telonemic coil
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In 1905, Albert Einstein discovered.

(A) Photoelectric effect and Brownian
motion

(B) Brown motion and special theory of
relativity.

(C) Special theory of relativity and
photoelectric effect.

Photoelectric effect, special theory relativity

and Brownian motion

1. Dynamic lift of airplane is based on the

principle of Bernoulli’s theorem.

2. Glass is less elastic than rubber.

3. For a system free from external forces,

linear momentum of the system remains

constant.

Which of the above statement is/are wrong?

(A) 2only (B) Both 2 and 3

(C) 3 only (D) Both 1 and 2

A rocket 100m long at rest starts to move

with uniform motion of 0.8C. What is its

length as seen by an observer at rest?

(A) 60cm (B) 80cm

(C) 100cm (D) O

Which of the following has the highest

ionizing power?

(A) X-rays (B) Alpha rays

(C) Beta rays (D) Gamma rays

Sound waves from a sounding.car are.

A) Transverse waves

(B) Longitudinal waves

(C) Ultrasonic waves

(D) Stationary waves

Consider the following statements:

Assertion (A): Reception for steroid

hormones-are located inside the cells.

Reason (R):’‘Because steroid hormones are

lipid-soluble molecules that diffuse easily

through the phospholipids interior of cell

membrane.

(A) Both (A) and (R) are true and R is the
correct explanation of (A).

(B) Both (A) and ( R) are true (R) is nota
correct explanation of (A).
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(C) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

Hormone Gastric acts as

(A) Stimulates HCL production

(B) Causes contraction of gall bladder.
(C) Water and Salt secretion

(D) Stimulate urine elimination

The transfer RNA (t RNA) carries.the
activated amino acid at its.

(A) 50H terminal _(B) 3'€CA terminal
(C) T y Cloop (D) Anticodon end
Neisser in1879.discovered a sexually
transmitted disease known as

(A) Syphillis (B) AIDS

(C) Gonarrhoea (D) Hydrocele.
Match the following mineral resources with
their reserve places:

List | List Il

a) Bauxite 1. Singh bhum.
b) Copper 2. Panna.

¢) Diamond 3. Tiruchirappalli.
d) Gypsum 4. Bilaspur.

(@ () (¢ (d
A4 2 3 1
B) 3 4 2 1
(©) 3 1 4 2
(D) 4 1 2 3
Which is the strongest acid?

(A) HCOOH (B) CH;COOH (C)
C;H,COOH (D) C,HsCOOH
For a cell reaction

A(S) + 2B A%+2B

The equilibrium constant is found to be 10*2.
Then the E°. value is

A) 0.354V (B) 0.708 V

(C) 0.0295 (D) 0.177 V

The specific conductance of a 0.01 M
solution of KCL is 1.4x10° ohm™ cm™ at
298 K. Its equivalent conductance is (ohm™

cm? equt™).
(A) 0.14 (B) 1.40
(C) 14.0 (D) 140
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63. The compound is used as rocket propellant. 69. Which of these connected in parallel in a
A) Hydrazine (B) Nitric acid circuit will produce undamped oscillations?
(C) Ammonia (D) Nitrogen (A) R, L (Resistance Inductance)

64. Consider the following statements: (B) R, C (Resistance, Capacitance).
Assertion (A): Cuscuta is a parasitic animal. (C) C, L (Capacitance, Inductance)
Reason (R): Cuscuta depends on the host (D) R, L and C (Resistance,
plant for its organic food, water and mineral Inductance and Capacitance)
salts. 70. Which of the following statements are
(A) Both (A) and (R) are individually true correct?

and (R) is the correct explanation of (A). In an isothermal process,
(B) Both (A) and (R) are individually true a) The temperature of'the gas remains
but (R) is not a correct explanation of constant.
(A). b) The gas<does not take any heat from
(C) (A)is true but (R) is false. the surroundings.
(D) (A)is false but (R) is true. ¢) The'internal’energy of the gas remains

65. Consider the following statements: constant.

I.Chlorofluro carbons have been widely d) The pressure and volume of the gas
used as super coolants in aerosols remain constant.

andinsecticides. (A). B and c are correct

Il.Methoprene is harmful to plants and (B) c and d are correct.

animals. (C) A and c are correct
Ill.Photobacterium phosphoreum is an (D) a and d are correct

example of bioluminescence. 71. Match the following blood pigment with their
IV.Pedology is the study of soil in the colour.

natural atmosphere. Pigment

Find the correct statements: Colour

(A) LI are correct a) Haemoglobin 1. Green.

(B) LIl and IV are correct. b) Hemocyanin 2. Red.

(C) I 'and Ill are correct ¢) Chlorocronin 3. Brown

(D) lll and IV are correct d) Pinnoglobin 4. Blue

66. The colour of tomato fruits is due to the a b c d
presence of. (A) 1 2 3 4
(A) Anthocyanins (B) Carotenoide (B) 2 3 4 1
(C) Flavonaoide (D) Tannis © 4 3 2 1

67. Whichof.the following is odd one out? (D) 2 4 1 3
(A)” Fillicophyta (B) Hysterophyta 72. Consider the following statements:

(C) Lycophyta (D) Psilophyta. Assertion (A): A drinking expectant mother

68. Cycle dynamo converts. can harm the embryo.

(A) Mechanical energy into thermal energy Reason (R): The alcohol can pass directly
(B) Mechanical energy into electrical into the blood stream of the fetus.

energy. (A) Both A and R are individually true and R
(C) Electrical energy into light energy is the correct explanation of A.

(D) Electrical energy into thermal energy.

www.chennaiiasacademy.com Vellore - 9043211311, Tiruvannamalai-9043211411 Page 7




73.

74.

75.

76.

77.

78.

79.

80.

>

(B) Both A and R are individually true but R
is not a correct explanation of A.
(C) Aistrue but R is false.
(D) Ais false but R is true.
Photochemical smog is formed by.
(A) O2,NO,H,0,, Organic peroxide etc.,
(B) Consists of mercury and lead.
(C) Consists of NO, and CO.
(D) Hydrocarbons.
Which of the following known as complete
fertilizer?
(A) Nitrogenous fertilizer
(B) Potash fertilizer.
(C) NPK Fertilizer
(D) NP fertilizer
is called buck minster
fullerene.
(A) Diamond (B) Graphite
(C) Ceo (D) Coal.
Which of the following is halide ore?
(A) Dolomite (B) Rock salt
(C) Bauxite (D) Galena.
The major component of natural gas is.
(A) Ethane (B) Methane
(C) Butane (D) Propane
Graphene is used for manufacturing
bendable smart phones. What is the other
field for which it can be used?
(A) Medical Radiation therapy
(B) Super lenses.
(C) Quantum computers
(D) Ultimate water. purifier
Which of the" following disease is not
caused by bacteria?
(A) Malaria
(C) Tetanus

(B) Cholera
(D) Dengue

GROUP = I[PRELIMS] - 2015
Match the following:
a) Krebs cycle

1. Occurs in cytoplasm.

81.
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b) Ubiquinone
2. Diffuse from cytoplasm to
mitochondria.
c) Glycolysis
3. Mobile carrier.
d) Acetyl-CoA
4, Occurs in mitochondrial matrix.
a b c d

A 4 3 1 2
B) 3 1 4 2
c) 1 4 2 3
D) 4 1 3 2

The purines.present in nucleic acids are:
I. Adenine and cytosine.

Il. Guanine'and-Thymine.

IIl. Adenine and Guanine.

IV. Cytosine and Uracil.

A) IV B) Il
C).ll D) |
Find out the Correct match/es:
I.  Enzymes
- Biological catalysts.
II. DNA
- Nucleic acid.
I, Insulin
- Hormone.
IV. Vitamin E
- Water soluble vitamin.
A) Il only B) I only
C) LIl and IV D) LIl and 1l
The number of generalized co-ordinates

required to describe the position of a simple
pendulum is.

A 1 B) 2

C)3 D) 4

If g is the acceleration due to gravity and R
is the radius of the earth, then escape
velocity is given by the relation.

A) Ve=./2g B) Ve=%/g
C) Ve=4/2Rg D) Ve=2./Rg

The relation connecting Young’s modulus
(E), Bulk modulus (K) and Rigidity modulus
(N) is.
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9 3 1 9 3 1
A F=vtx BN Etx

9 1,3 9 _1_3
ON=Etk D) p=w=%
The S.1. unit of gravitational constant G is .
A) Nkg? B) Nm kg™
C) Nm?kg™ D) Nm?kg

Choose the correct answer:
The itai-itai disease of Japan was caused
due to
I.  Arsenio pollution.
II. Cyanide pollution
Ill. Cadmium pollution IV. Lead pollution.
A) landll B) Il and IlI
C) lll only D) Iv only
Match the following:
a) Sericulture
1. Farming of aquatic organisms.
b) Horticulture
2. Culture of honey bees.
¢) Agquaculture
3. Rearing of silk worms.
d) Apiculture
4. Cultivation and maintaining

gardens
a b c d
A) 3 4 1 2
B) 2 3 4 1
C) 1 2 3 4

D) 4 3 2 1

The plant type which-colours the ocean
surface water red.is
A) Dinoflagellates
C) Green algae

B) Golden algae.
D) Red algae.

Match the following:

a) NaandK - i) Obtained by
electrolysis of fused salt.

b) Cu and Ag - i) Occur only
in native state.

c) Auand Pt - iii) Occur both
native and combined state.

d) Naand Ca - iv) Reducing

agent in metallurgy.
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e) Aland Mg - v) Occur only
in combined state.
A) a-v b-iii c-ii
d-i e-iv
B) a-iv b-I C-ii
d- iii e-v
C) a-ii b-iii C-V
d-iv e-i
D) a-iii b-ii c-1
d-v e-iv

Which of the following is/are wrong?
I. Mg,C; on hydrolysis‘gives acetylene
Il. Be,C on hydrolysis give methane.
. Al,Cs'on.hydrolysis gives allylene.
A) Landll B) Il and IlI
C)land Il D) LIl and 11I
For the Daniel cell E° = 1.10 V. The value of
equilibrium constant (k) for the reaction (at
298 K) is
ZN) +CU"(ag) = ZN*"(aq) +Cliy)
A) 4.36 x 10* B) 2.79x10*
C) 6.53x10% D) 1.55x10%
Identify the numbered substances in steps
of Glycolysis.
Glucose — (1) —(2) - Fructose 1,6
bisphosphate.
A) (1) is pyruvate (2) is citrate.
B) (1) is Glucose -6-phosphate (2) is
pyruvate .
C) (1) is Glucose — 6 —phosphate (2) is
Fructose -6-phosphate.
D) (1) is phosphoglycerate (2) is Glyceric
acid.
Consider the following pairs:
l. Thallophyta -
Algae and Fungi.
Il.  Tracheophyta -
All vascular plants.
lll.  Bryophyta -
Liverworts and Fungi
IV. Pteridophyta -
Mosses and Mushrooms.

Page 9
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Which of the pair given above is/are

correct?

A) lll and IV B) land Il

C) land IV D) Il and I

Which of the following statements about

Glycolysis is/are True?

I.  Glycolysis is also known a Pentose
phosphate pathway.

Il.  The substrate of Glycolysis is Glucose.

lll. The final product of Glycolysis is

Glygogen.

IV. Glycolysis is also known as Glyoxylate
cycle.

A) landlll B) 1l only

C) llland IV D) lvand

Arrange the following common units of
classification in ascending order:

l. Family Il. Order M.
Species IV. Variety V.
Genus

A) 1LLILIV,V B) V,IV,IILILI

C) HLV, IV, ILI D) IV,IILV,LI

The rest mass of a photon is.

A) Zero

B) B) Infinity

C) Dependent on its wavelength

D) Dependent on its velocity.

Which of the following sets have different
dimensions?

A) Pressure, young’s modulus, Stress.
B) Emf, potential difference, Electric
potential.

C) Heat, work done, Energy

D) Dipole'moment; Electric flux, Electric
field.

New elements and rare — earths are
discovered and fixed in the periodic table
using.«

A)/ Bragg’s law B) Moseley’s law
C) Compton’s effect D) Bravais lattices.
If a colour blind woman matrries a normal
visioned man, they will produce.

A) Normal visioned sons and daughters

101.
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104.
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B) Colour blind sons and normal visioned
daughters.
C) Normal sons and colour blind daughters
D) Colour blind sons and daughters.
Cretinism, myxoedema and goiter are
related to the disorders of the
A) Parathyroid gland B) Thyroid gland
C) Adrenal gland D) Pituitary. gland.
Which one of the followingis.NOT correctly
matched?
A) Anopheles Stephensil

- Leishmaniasis.
B) Glossina‘Palpalis

- Sleeping sickness.
C) Culex pipiens

- Filariasis.
D) Aedes Aegyptic

- Dengue fever.
The portion of incident radiation reflected
back to space from the plant is called.
A) Atmospheric windows
B) Albedo.
C) Rayleigh scattering
D) Law of scattering.
Arrange the following in the order of
increasing solubility in water.
i) NaHCO; i) KHCO;
iif) Mg(HCO3), iv) Ca(HCO3),
A) Iv<iii<ii<i B) I <ii <iii <iv
C)ii<iii<i<iv D) iii <i <iv <ii
Match the following:

Actinide element Atomic number.

a) Plutonium 1.102
b) Curium 2.100
c) Fermium 3. 96
d) Nobelium 4.94

a b c d
A) 1 2 3 4
B) 3 4 1 2
C) 3 4 2 1
D) 4 3 2 1
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106. Match the Number of electrons transferred

(a) when one mole of KMnaoy, is reduced to

(b)
(@ 1 3 4 5
(b) Mn,O3, MnO,, Mno*,, Mn?
A) 1-MnO?%, 3- MnO,
4 — Mn,Og 5-Mn**
B) 1-Mn?* 3- Mn,O;
4 — MnO, 5-MnO%,
C) 1-MnO, 3- MnO?%,,
4 — Mn** 5-Mn,03
D) 1-Mn,04 3-Mn*
4-MnO?, 5-MnO,

107. An example of commonly used herbicide is.
A) P,P' — dichlorodiphenyl trichloro ethane.

B) 2,4 —dichloro phenoxy acetic acid.
C) Benzene hexa chloride.
D) Naphthanlene.
108. Match the following:
I I 1]
1) Thiamine a) Cheilosis

i) Pellagra
2) Niacin b) Polyneuritis
i) Glossitis.
3) Riboflavin ¢) Nicotinamide
i) Beri beri.
4) Biotin d) Antipernic

iv) Hyperestheria.
5) Cyanacobalamine e) Coenzyme R
v)Pernicious anaemia

A) (1) - (@) —(v) (2) — (b) —(iii)

(3)-(c)-() (4) —(d)-(iii)
(5) - (&) =(iv)
B) (1)-(b).— (iii) (2) = ()=
(3) —(a)~(ii) (4)-(e)-(iv)
(8) =(d) = ().

C) (1)~ (d) i) (2)-(@ -
(3) = (b) — (iv (4) —(c)-(iii)

(5) = (&)-()

D) (1) —(c) =(v) (2) — (e) (iii)
(3)-(d)-(v) (4) —(a)-(i)
(5) — (b)-(iii)
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The valence electron of the impurity atom
that is to be added to germanium crystal so
as to make it a n- type semiconductor is
A) 6 B) 5
C)4 D) 3
A particle executes S. H-M-The
acceleration of the particle is. maximum
A) At extreme position
B) at mean position
C) midway between mean and extreme
position
D) acceleration.is same at all position
The‘velocity of sound is maximum in
A) Water B) Air
C) Metal D) Vacuum
The aqueous solution of potassium chloride
is
A) a weak electrolyte
B) a strong electrolyte
C) a non-electrolyte
D) initially weak and then become a strong
electrolyte.
An acid is a substance that can lose a
proton is called
A) Arrhenius concept
B) Bronsted-Lowry concept
C) Lewis concept
D) Usanovich concept
Which of the following is a wrong
statement?
A) All the minerals are not ores
B) All the ores are not mineral
C) All the ores are minerals
D) From ores, metals can be extracted
economically
Which enzyme catalyze the conversion of
Pyruvic Acid into Acetyl co-enzyme A in the
respiratory process?
A) Pyruvic acid oxidase
B) Pyruvate synthetase

Tiruvannamalai - 9043211411 Page 11
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116.

117.

118.

119.

120.

C) Aconitase

D) Pyruvate Dehydrogenase

Match the following algal pigments with their
colour:

Pigment Colour
a) Chlorophyll 1. Orange
b) Xanthophyll 2. Green
c) Carotennoid 3. Blue green
d) Phyocyanim 4. Yellow

(@ (b) (c) (d)
A) 2 4 1 3
B) 2 4 3 1
C) 1 2 3 4
D) 4 1 3 2
Which of the following is correct?
The term systole refers to
I. Phase of contration of lungs.
Il. Phase of relaxation of lungs.
Ill. Phase of relaxation of heart
IV. Phase of contraction of heart.

A) land Il only B) Il and IIl only

C) Il only D) IV only

Choose the correct answer from the codes
given below.

Assertion (A) The pyramid of grassland

ecosystem is upright.

Reason (R) The producers are

maximum in number and tertiary consumers

are least in number.

A) (A) and (R) are carrect

B) (A) alone is correct

C) (R) alone is correct

D) (A) is.correct(R) is not the reason for (A)

Aestivation'is seen in

A) ‘Amphibians

C) Salmon

Match-the following :

Disease Test

a) Leprosy
hemoglobin test

b) Typhoid fever

c) Tuberculosis

B) Chimpanzee
D) Squirrels
1. Glycosylated

2. Leppromin test
3. Widal test

121.

122.

123.

124.

125.

126.

d) Diabetes
(@ () () (d)

A 1 3 4 2

B) 2 3 4 1

C) 2 4 3 1

D) 3 2 1 4

When the frequency of an eletromagnetic

wave and ultrasonic wave are same, then

A) their wavelengths should.be same

B) wavelength of electromagnetic wave will
be more

C) wavelength.ultrasonic wave will be more

D) wavelength electromagnetic wave will
be less

Two coils are.placed close to each other.

The‘mutual inductance of the pair of coils

depends;upon

A) the'materials wires of the coils

B).the currents in the two coils

C) the rates at which currents are changing
in the two coils

D) relative position and orientation of the
two coils

A Convex lens of focal length 40 mis in

contract with a concave lens of focal length

25cm . The power of the combination is

A) -1.5D B) -6.5D

C)+15D D) +6.5D

.Which of the following has the least

wavelength?

A) X-rays B) Microwaves

C) Ultra Videt rays D) Radio waves

Ozone layer of atmosphere absorbs

A) Visible radiations

B) Infrared radiations

C) Ultraviolet radiations

D) Radio waves

A radio active element “X” with a half life of

2 hours decay giving a stable element “y”.

After a time of i hours the ratio of atoms is

1:7 then, the value of

A) 4 hours

C) 5 hours

4. Mantoux test

B) 6 hours
D) 14 hours
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127. The compounds formed when hydrogen
combines with p-block element are called
A) lonic hydrides
B) Molecular hydrides
C) Metallic hydrides
D) Polynuclear hydrides

128. Amomg the following salts, which is a salt of

weak acid and strong base

A) NH, CI B) CH;COONH,
C) NaCN D) NaCl
129. Choose the micronutrient needed for plant
growth
A) Oxygen B) Hydrogen
C) Nitrogen D) Zinc

130. The root modules of Casuarina which are
capable of symbiotic nitrogen fixation
contain the microbe
A) Rhizobium B) Frankia
C) Anabaena D) Azotobacter

131. Which cytoplasmic organells is associated
with "acrosome’ formation in the
spermatozoa of animals?

A) Lysosome B) Choroplast
C) Golgi complex D) Chromosome

132. Deficiency of folic acid leads to
A) Anaemia B) Mental disorder
C) Scurvy D) Night blindness

133. A feature common to nuleus, chloroplast
and mitochondria is the presence’of
A) Lamella B) Cristae
C) Nucleic acid D) Nucleolus

134. Hormone secreted.in roet tip during the
formation of‘nodule is
A) Auxin B) Cytokinin
C) Zymase D) Lipase

135. Metabolically inactive cell inclusions
remaining in the cytoplasm is called
A) Reserve materials
B) Ergastic substance
C) Secretory substances
D) Crystals

www.chennaiiasacademy.com Vellore - 9043211311,
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136.

Which of the following is a insect?

A) Mosquito B) locust

C) bedbug D) termites

Which one of the following is NOT correctly
matched?

List | Lit Il
Hormone Secreted by
I. Testosterone — Interstitial cells
II.  Prolactin =~ “Adrenal medulla
Il.  Estrogen — “Ovary
IV.  Progesterone — . 'Corpus luteum
A) |only B) 1l only
C)llland Il D) IV only

The antibiotic that prevents cell wall
synthesis in'bacteria is

A) ~Rifampicin B) Streptomycin
C) Penicillin D) Anthracyclin

GROUP - | [PRELIMS] - 2019
SCIENCE

In Vaccum all objects fall with

(A) Same acceleration and heavy bodies
reach ground first

(B) Same acceleration and reach the
ground at the same time

(C) Different acceleration and reach the
ground at different time

(D) Different acceleration and heavy bodies
reach ground first

The time of reverberation of a hall can be
decreased by

(A) Having a number of loud speakers
(B) Opening all windows and doors

(C) Closing all windows and doors

(D) Speaking loudly

Which spectroscopy is used in chemical
examination of interstellar space?

(A) Microwave Spectroscopy

(B) Infrared (IR) Spectroscopy

(C) Raman Spectroscopy

(D) NMR Spectroscopy

Page 13




142,

143.

144,

145.

146.

147.

148.

149.
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The Indian Salt Petre is

(A) Ammonium nitrate (NH,NO3)

(B) Sodium nitrate (NaNO5)

(C) Potassium nitrate (KNO3)

(D) Calcium nitrate Ca (NO3),

The unit for equivalent conductivity is
(A) ohm™ cm™

(B) ohm™ cm? eq™

(C) ohm™ cm?eq™

(D) Scm?eq*

The main constituent of steel in India are
(A) Niand Cu (B) Mn and Cr

(C) Feand Cu (D) Tiand Cr

The end product of anaerobic respiration is
(A) Acetyl Co-A

(B) Ethanol alchol

(C) Pyruvic acid

(D) Succinic acid

Golden rice is a genetically modified crop.
Where the incorporated gene is meant for
biosynthesis of

(A) Vitamin A (B) Vitamin B

(C) Vitamin C (D) Vitamin D

Most Widely used bioweapon is

(A) Bacillus subtilis

(B) Vibrio cholerae

(C) Bacillus anthracis

(D) Escherichia coli

Among the following plants, which one has
oil repelling property?

(A) Tobacco (B) Maize

(C) Hibiscus (D) Aloe Vera
What happens in human Thalassemias?
1. reduce a — globin synthesis

2. reduce B - globin synthesis

3. ‘enhance a and f — globin synthesis
(A) 1 alone correct

(B) 2 alone correct

(C) 1 and 2 are correct

(D) 3 alone correct

150.
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Which of the following plant boosts the
production of red blood cells?

(A) Turmeric (B) Tulsi

(C) Lemon grass (D) Mustard

Nuclear forces are

(A) Strongly attractive force

(B) Strongly repulsive force

(C) Attractive of repulsive depend.on
nucleans

(D) Gravitational forces

According to Moseley’s’law the frequency of
the spectral line‘in X-ray-spectrum varies as
(A) Atomic number of the element

(B) Square of the atomic number of the
element

(C)-Square root of atomic — number of
element

(D). Fourth power of the atomic number of
the element

A'cathode Ray Oscilloscope (CRO) is used
to measure ------------- of a signal.

(A) Voltage (B) Frequency

(C) Phase (D) all the above
Which one of the compounds is not a
Protonic acid?

(A) SO (OH),

(C) B (OH)s

SO, acts as

(A) a reducing agent
(B) an oxidizing agent
(C) both reducing and oxidizing agent

(D) neither reducing nor oxidizing agent
Nitrous Oxide is Known as Laughing gas. It
is also used in medical field as

(A) Instant horse power

(B) Propellant

(C) Antiseptic

(D) Anesthetic

Methane is the carbon compound. Its’s
Molecular Formula is
(A) CH,4

(C) C2 He

(B) SO; (OH),
(D) Po (OH);

(B) CH; Cl
(D) CCl,

Page 14
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158. Which of the following is strong acid and
strong base reaction?
(A) HCOOH + NH;
(B) HCOOH + NaOH
(C) HCI + NH5
(D) HCI + NaOH
Find the wrong pair/pairs :
1. Metabolism
- Sum total of enzymatic reactions
2. Auxin
-Photosynthesis
3. Photolysis of water
-Growth
4. Oxidative phosphorylation
-Respiration
(A)land 2 (B) 2 only
(C)2and 3 (D) 3and 4
Which one of the following is need on a
non-conventional source of raw material for
the paper production?
(A) Bamboo
(B) Casuarina
(C) Sugarcane bagasse
(D) Eucalyptus
Consider the following Endocrine glands. :
1. Islets of Langerhans
- Produce Insulin
2.Thyroid gland
- Produce diabetes
3.Adrenal gland
- Produce Goitre
Which of the following is‘correctly matched?
(A) 1 only
(B) 1 and2 only
(C) 2.and 3 only
(D)1,2and 3
Which one called from the development and
the maturation of the erythrocyte from the
haemocytoblast?
(A) Erythropoiesis
(B) Erythrocynin
(C) Erythrocyte

159.

160.

161.

162.

(D) Haemotocyte

Combined drug in use to cure the Malaria is
(A) Quinine (B) Fansidar

(C) Chloroquine (D) Primaquine

In mammals the mammalian glands.are
modied gland of following

1. Salivary gland

2. Sebaceous gland

3. Pituitary gland

(A) 1 only (B) 2 only

(C) 1 and 2 only (D) 1 and 2 only
Which of the following ecological pyramid is
always upright?

163.

164.

165.

(A) Pyramid of energy
(B) Pyramid-of number
(© Pyramid of biomass
(B) (B)and(C)

166. What is the covalency of nitrogen in
ammonia molecule?

(A) 2 (B) 4

(©3 (D)5

Norman Borlaug — is associated with
1. high yield variety seeds

2. Chemical fertilizers

3. Chemical pesticides

Select the correct answer using the code

167.

given below:
(A) 1 only (B)2and 3
(C)1and3 (D) 2 only
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10 11 12 13 14 15 16 17 18 19 20

N
(V)
w
D
o
o
~
o)
©

B A C A C D B A B B D A D A D D A C

21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40

A B B C A B C B D D A A A C B B C D c D

41 42 43 44 45 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60

A B D C A C B D A Cc A A B B A A B C D A

61 62 63 64 65 66 67 68 69 70 71 72 73 74 75 76 77 78 79 80

A D A D C B B B C C D A A C C B B D D A

81 82 83 84 85 86 87 88 89 90 91 92 93 94 95 96 97 98 99 | 100

B A B C A D C A A A C D C B B D A D B B

101 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110 | 111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120

B A B B D A B B B C B B B D A D A A B
121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130 | 131 | 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 140
B D A A C B B C D B C A A B D B C B B

141 | 142 | 143 | 144 | 145 | 146 | 147 | 148 | 149 | 150 | 151 | 152 | 153 | 154 | 155 | 156 | 157 | 158 | 159 | 160
A C Cc B B A C D C C A B D C C D A D Cc Cc

161 | 162 | 163 | 164 | 165 | 166 | 167
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Which one of the following is used in the
preparation of seat belts and sails?

A) Teflon B) Buna-S

C) Dacron D) PVC

Match the following:

a. Current strength 1. Ohm

b. Resistance 2. Volt

c. Potential difference 3. Coulomb

d. Quantity of electric current 4. Ampere
a b c d

A 4 1 2 3
B) 3 2 1 4
c) 1 4 3 2
D) 4 3 1 2

Assertion(A) : In TAN-A position the arms
of deflection magnetometer are placed
along Eas, West direction.

Reason (R) : The magnetic field along
the axial line of a bar magnet is
perpendicular to the horizontal Component
of earth’s magnetic field.

Now select your answer according to the
coding scheme given below:

A) Both (A) and (R) correct and (R) is the
correct explanation of (A)

B) Both (A) and (R) are true, and (R) is not
the correct explanation of (A)

C) (A) is true but (R) is false

D) (A) is false but(R) is true.

Choose correct answer:

Blood pressure in human is greater at feet
than-at the brain because.

A) The distance between feet and the heart
is large than between heart and brain

B) The distance between feet and the heart
is small compared to brain

C) The distance between brain and heart is
large than feet

www.chennaiiasacademy.com Vellore - 9043211311,
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D) It doesn’t depend upon the distance
/height

During respiration, energy is released. It is
stored in the formof ____

A) ADP B) ATP

C) NADP D) APP

The strength of trees are due to the
presence of tissues.

A) Xylem, phloem

B) Xylem, sclerenchyma

C) Parenchyma,sclerenchyma

D) Pholem,parenchyma

Show the genotypes of parents that produce
offs spring in the ratio of 3- tall animals to 3-
dwarf animals.

A) Ttandtt in 3:3 ratio

B) TT and Tt in 3:3 ratio

C) Ttand Ttin 3:3 ratio

D) tt and tt in 3:3 ratio

Identify the correct statements among the
following:

I. The growth of an organism is done by
Mitosis

II. In sexual reproduction of an organism
both Mitosis Meiosis are seen.

Il. In asexual reproduction of an organism
Meiosis is observed

IV. In animals asexual reproduction is seen.

A) land B) lll and IV
C)lland il D) land IV

Which of the following pair is not a natural
pesticide?

A) Turmeric and Neem

B) Malathion and DDT

C) Neems and Castor Oil

D) Castor Oil and Turmeric

Which one of the following is not correctly
matched:

A) Caesium 1. Alkali metal

B) Uranium 2. Transition metal
C) Barium 3. Alkaline earth metal
D) Silver 4. Transition metal
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Match List | and Il correctly and select your
answer using the codes given below:

List | List Il
a. Copper 1. Red
b. Copper sulphate 2. Black
c. Cuprous oxide 3. Reddish brown
d. Cupric oxide 4. Blue
a b c d
A) 4 1 2 3
B) 3 4 2 1
C) 3 4 1 2

D) 4 3 2 1

The machine that picture lie detection in
investigating criminals is

A) EEG B) ECG

C) Poly graph D) Doppler

Pick out the correct one

If we kick a foot ball it flies away but kick a
stone of size with equal force it doesn't.
Because

A) Inertia depends on mass

B) Inertia doesn’t depend on mass

C) Inertia is inversely proportional to mass
D) Inertia is larger for small mass
Choose correct answer:

A force is inclined at 60° to the horizontal. If
the horizontal component of force is 40kg
wit.

Calculate vertical component.

A) 40kg wt B)69.28kg wt.

C) 6.928 kg wt D) 992.8 kg wt
Which is /are correct out of the below
statements?

a. Vanda is'an Epiphyte

b. It-has Velamen tissue

c:. It is'an angiosperm plant

A) (a),(b) correct (c) wrong

B) (a),(c) correct (b) wrong

C) (b), (c) correct (a) wrong

D) All are correct

Of the following which are anaerobes?
A) Bacteria, yeast

B)Bacteria, green plants

17.

18.

19.
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C) Yeast, fungi

D) green plants, yeast

The bacterium discovered by Anand Mohan
Chakrabarty to degrade Oil spills

A) Bacillus B) Pseudomonas

C) Nitrosomonas D) Streptococcus
Which one of the insect repellant is used to
destroy mosquitoes in your house water

storage?
A) BHC B) DEET
C) TNT D) TNP

The motion of rocket is according to which
law?

A) Newton first law

B) Newton second law

C) Newton third law

D) Joule-Thomson law

The newly added element with atomic
number 112 in the periodic table is

A) Copernicium B) Roentgenium
C) meitnerium D) bohrium

Pick the correct answer:

Graphite can be converted into diamond by
applying.

A) temperature 3000°c and pressure
1,00,000 atm

B) temperature 300°c and 1 atmospheric
pressure (atm)

C) temperature 100°c and no pressure
D) applying pressure alone

Organisms which are widely used for
experiments in genetics are

A) Mosquito, House fly and House rat
B) Fruit fly, E.Coli and White rat

C) Rabbit, Dolly sheet and Viruses

D) Viruses, Yeasts and House fly

Pick out which is not correctly matched:
A) Solar steam generating system — Air
conditioning

B) Biogas power plant — To provide
electricity

C) Hydropower — Hilly areas
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D) Solar energy — Non renewable sources
of energy

Vermi compost prepared by using
earthworms

A) Inhibits the decomposition of plant waste
B) Speeds up the process of decomposition
of plant waste

C) Enhances the water holding capacity of
the soail

D) Prevents the diseases

GROUP - 11-2013

Which of the following statements about
respiration is true?

I. Respiration results in loss of dry weight in
plants.

Il. The intermediate chemical reactions in
the breakdown of sugar in respiration and
synthesis of sugar in photosynthesis are
much the same.

IIl. The oxygen concentration is not known
to affect respiration.

IV. Respiration is a constructive process.
A) |, lland IV B) Il and IV

C) land Il onlyD) I and 1lI

Angiosperms differ from gymnosperms by
A) Being evergreen

B) Having compound leaves

C) Being smaller in size

D) Having ovule enclosed in the ovary
The Conjugate base of[Fe(H,0),0H]

A) [Fe(H,0)5 OHT*® "B) [Fe(H,0)50H]*?
C) [Fe(H50)<]*3 D) H,0

In the extraction of iron from its Hematite
are, the flux-added and gangue formed
respectively are

A) Oxygen, Iron Oxide

CHENNAI IAS ACADEMY

/ The Best Academy For Competitive Exams

Which among the following genetic
condones codes as the stop Condon during
translation

I. UGC Il. UAA
I UAG V. UGA
A) LILII B) LIV
C) ILLI D) 1L, IV

Consider the following statements and
select your answer;-

Assertion (A) : Electron micrescopes can
give better resolution than optical
microscopes.

Reason (R).+ A high energy particle has a
short de Broglie wavelength and so can
probe the small-scale interior structure of
other-particles.

A) Both (A) and (R) are true and (R) is the
correct'explanation for (A)

B) Both (A) and (R) are true and (R) is not
the correct explanation for (A)

C) Both (A) and (R) are false

D) (A) is true but (R) is false

. Match the type of respiration in insects in

Column | with Column Il and choose the
correct answer:-
Column | Column Il
a. Holopneustic
1. Spiracles are replaced by gills
b. Metapneustic
2. Only the prothoracic spiracles are
open
c. Propneustic
3. All the spiracles are open
d. Branchipneustic
4. Prothoracic and posterior abdominal
spiracles aopen
e. Amphipneustic
4. Only last pair of spiracles are open

B)/Carbon dioxide, lon carbonate a b o d e
C) Silica, iron silicate A) 2 1 4 3 5
D) Sulphur dioxide, iron sulphate B) 3 5 2 1 4
C) 5 1 2 4 3
D) 4 2 5 3 1
www.chennaiiasacademy.com Vellore - 9043211311, Tiruvannamalai-9043211411 Page 19
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The best source of Vitamin D is

32.
A) Margarine B) Rice

C) Wheat D) Sugarcane
Which disease is caused by deficiency of
proteins in children?
A) Marasmus B) Pellagra

C) Beri-beri D) Rickets
The Oxidation states of nitrogen in the
following equation are
4[NH3;0H]" - N,O+2NH";,+2H"+3H,0

x M @

X Y Z

33. 38.

34.

Vg

A)
B)
C)
D) -1 1
During the Oxidation of acidified ferrous
ammonium sulphate with dichromate
solution
A) The Oxidation number of Chromium and
iron changes form +6 to +3 and +3 to +2
B) The Oxidation number of chromium and
iron changes form +3 to +6 and +3 to +2
C) The Oxidation number of chromium and
iron changes form +6 to+3 and +2 to +3
D) The Oxidation number of Chromium
andironchanges form +2 to+3 and +6 to
+3 respectively
Consider the following statements:-
Assertion (A) : Copper is mainly used in
electrical Engineering. industry.
Reason (R) : Copper has the property of
high conductivity.
A) Both (A). and (R) are true and (R)
explains (A) correctly.
B) Both (A) and (R) are true but (R)does not
explain (A)
C) (A)iis true but (R) is false
D)/(A) is false but (R) is true.
Arrange the following plants species in
descending order based on their altitude
A) Junipers — Decodar — Maple — Teak
B) Deodar — Junipers — Maple — Teak

35.

39.

40.

36.

41.

37. 42.

CHENNAI IAS ACADEMY

The Best Academy For Competitive Exams

C) Junipers — Teak — Deodar — Maple
D) Deodar — Junipers — Teak — Maple

The graph showing the velocity ‘v’ of a steel
ball dropped in a tall, jar containing.glycerin
varying with time ‘t’ is
A) v

s B) v

Vg

L,

C) v D)

/] -

tz
The Measurements Standards laboratory of
India is
A) Indian Institute of Science
B) National Aero Space Laboratories
C) National Physical Laboratory
D) National Metallurgical Laboratory
Arrange the sequences of mitosis in a logic
way.
I.  Centromeres of chromosomes attaches
to spindle fibre
1. Chromatids uncoil and cytokinesis
occur.
lll. Asters and spindle fibres are formed

IV. Centromers split into two, daughters
centromeres move a part

A) LIV, LI B) ILIV,IILI

C) ILHLIV,I D) HL1LIV,II

Inhibition of gastric secreation is brought
about by
A) Pancreozymin
C) Enterorgastrone

Match the following:-
a. Moment of Linear momentum

1. Buoyancy

b. Ability of free surface of a liquid to

B) Gastrin
D) Cholecystokinin
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Minimize its surface area 46.

2. Potential
¢. Work done per unit charge
3. Surface tension
d. Upward force experienced by a body
when wholly or partially immersed in a

fluid 4. Angular momentum
a b c d 47.
A) 4 1 2 3
B) 4 2 3 1
C) 4 3 2 1
D) 4 1 3 2

GROUP —1I - 2015

43. Match the following:

Technology Scientific
principles. 48.
a) Aeroplane 1. Newton’s

Law
b) Air Balloon 2. Bernoulli's

principle.
c) Rocket 3. Law of

thermodynamics 49.
d) Steam Engine 4. Buoyant

Force.

a b c d
A) 1 3 2 4 50.
B) 3 1 4 2
C) 4 2 3 1
D) 2 4 1 3
44. Auto ionization of H,O leads to the
formation of:
A) H,0 B) OH
C)H D) H,O and OH 51.
45. Arrange the following in increasing of their

pH values:
I Human Blood
Il. Stomach acid
. Pure water
V. Milk.
A) ILILIV and | B) ILLIII and IV
C) LIV, and | D) LIILIV and I

CHENNAI IAS ACADEMY

Which one of the following bacterium has
extensive usage in Genetic engineering
work in plants?

A) Clostridium septicum

B) Xanthomonas citri.

C) Bacillus coagulens

D) Agrobacterium tumefactiens.

Match the following:

a) Riboflavin 1. Vitamin Bg
b) Thiamine 2. Vitamin B,
¢) Pyridoxine 3. Vitamin By,

d) Cyanocobaltamine 4. Vitamin B,

a b o d
A) 2 4 3 1
B) 2 3 4 1
C) 2 4 1 3

D) 1 3 4 2

Which-of the following is common to both

Aerobic and Anaerobic respiration?

A) Glycolysis.

B) Kerb’s cycle

C) Alcoholic fermentation

D) Lactic acid fermentation.

Name the hormones secreted by the pineal

body.

A) Melatonin B) Thymosin

C) Relaxin D) Thyrotropin.

Which of the following are correct?

i) Work = force x Displacement

i) Power = work/Time

iii) Force = Mass x Velocity

iv) Acceleration = Velocity / Time

A) Litandiii ~ B)ii,iii

C) Ljiii and iv D) I, iiand iv

Why the wings of an aeroplane are shaped

with lower surface being flat and the upper

surface being curved?

A) To reduce vibration.

B) To make difference in pressure to lift the
plane vertically

C) To accommodates more passengers in
the wing.

Tiruvannamalai - 9043211411
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D) To Strengthen the wheels fitted in
wings.
52. Match the following:
Famous Indian Scientist
Their contribution.
a) C.V.RRaman
1. Ultra short Radio waves.

b) J.C.Bose
2. Thermal lonization
¢) M.N. Saha
3. Quantum Statistics.
d) S.N.Bose
4. Inelastic scattering of Light.
a b o d
A) 1 2 3 4
B) 2 3 4 1
C) 3 4 1 2

D) 4 1 2 3
53.  Which one of the following is not an
allotrope of carbon?
A) Diamond B) Graphite
C) Fullerene D) Butane
54. Match List | with List I, select the correct
answer using the codes given in the
options:
List | List 1l
a) First Generation Pesticides
1. Pheromones.
b) Second Generation Pesticides
2. Juvenile Hormones.
c) Third Generation Pesticides
3. Pyrethrine.
d) Fourth Generation Pesticides
4/0rgano.phosphates.

a b c d
A) 1 4 2 3
B) 2 3 4 1
C) 3 4 1 2
D) 4 2 3 1
55.=Match the following:
a) Castor oil 1. Sesamum indicum.
b) Gingley oil 2. Azadirachta indica.
c) Neem oil 3. Arachis hypogeal

56.

57.

58.

59.

60.

61.

62.

63.

d) Groundnut oil 4. Ricinus communis.
a b c d

A) 1 3 4 2

B) 3 2 1 4

C) 4 1 2 3

D) 2 4 3 1

Which one of the following is an example for

x-linked chromosomes in heritance?

A) Colour Blindness B)-Albinism

C) Alkaptonuria D) Mangolism.

What is the other name for Leprosy?

A) Botulism B) Tetanus

C) Hansen’sdisease D) Rabies

GROUP.- Il [PRELIMS] - 2018
SCIENCE

What is‘the basic concept of Raman effect?
(A) Reflection

(B) Incoherent Scattering

(C) Coherent scattering

(D) Refraction

The Epsom salt which is used as laxative
is

(A) MgSO,.7H,0 (B) CaS0O,2H,0

(C) ZnS0O,4.7H0 (D) CuS0,4.5H,0
Which one of following is the correct
composition of Brass?

(A) Cu—50% : Sn—50%

(B) Cu—60% : Zn — 40%

(C) Zn —70% : Sn — 30%

(D) Fe —40% : Ni — 60%

What is Phototropism?

(A) Movement of plants towards chemicals
(B) Movement of plants towards light

(C) Movement of plants towards soil

(D) Response of plants for day length

The crop which gets affected by pink hall
worm is

(A) Banana (B) Wheat
(C) Mango (D) Cotton
1 Femto is equal to ---------------- m.
(A) 10° (B) 10™°

(C) 10° (D) 10™
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64. What is the value of gravitational field at the 69. Kuhne’s tube can demonstrate the process
centre of the sphere? (A) Fermentation
(A) Zero (B) % (B) Germination of seeds

oM ) (C) Growth of plants

© = (D) -GMIr (D) Aerobic respiration

65. Which of the following is sensitive to 70. A preparation of living (or) Killed micro-
ultrasonic waves? organism (or) viruses used in prevention of
(A) Man (B) Bat diseases through immunization is.called
(C) Bird (D) Fish (A) Toxoid (B) Vaccine

66. What happens in the reduction process? (C) Viremia (D) Anti — toxin
(A) Loss of electrons 71. The source of energy.in any eco system are
(B) Gain of electrons (A) Osmotrophs (B) Autorophs
(C) Loss of hydrogen (C) Lithotrophs (D) Heterotrophs
(D) Gain of oxygen 72. The Acid Rain destfoys the vegetation,

67. Galena is the ore of which of the following because it contains
metals? (A)-Nitrates
(A) Silver (B) Lead (B) Ozone
(C) Gold (D) Iron (C).Carbon monoxide

68. In higher plants the sporophytic phase in (D). Sulphuric acid

formed after growth and development of the
zygote. Point out the type of cell division
involved in this growth.

(A) Mitosis (B) Meiosis

(C) Amitosis (D) Zygotic meiosis

TNPSC —GROUP — I -PREVIOUS KEYS — SCIENCE

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Cc A A A B B B A B B C C A B D A B B Cc A

21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40

A B D B C D B C D A B A A D C A A B C D

41 42 43 44 45 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60

Cc C D C C D C A A D B D D Cc Cc A C Cc A B

61 62 63 64 65 66 67 68 69 70 71 72

B D B A B B B A A B B D
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Match the following List | with List Il with
regards to reservoir. Select correct answer
using the codes given below the list:

List | List Il

a) Human being 1. Cholera.
b) Livestock 2. Ringworm.
c) Rodents 3. Plague
d) Dogs and Cat 4. Anthrax.
Codes:

a b o d
A) 1 2 3 4
B) 3 4 2 1
C) 1 4 3 1

D) 2 3 1 4

Energy flow in an eco system is.

A) Unidirectional B) Multidirectional

C) Bidirectional D) No direction.

Which of the following statement is correct?

l. When blood glucoses level
decreases, the hormone glucagon
signals the liver to produce .and
release more glucose and to stop
consuming it for its own.

Il. When blood glucose level
decreases, the hormones glucagon
signals the liver..to produce and
release more glucose and to
increase consuming it for its own
needs.

[l When blood glucose level is high,
insulin 'signals liver to synthesize
and ~ storage of glycogen and
triacylglylcerol.

V. When blood glucose level is high,
insulin signals liver to stop the

V. synthesis and storage of glycogen
and triacyl glycerol.

A) landlll B) I and IV

C) lland lll D) Il and IV.

www.chennaiiasacademy.com Vellore - 9043211311,

4.

10.

Tiruvannamalai - 9043211411

CHENNAI IAS ACADEMY

/ The Best Academy For Competitive Exams

The oxidation number of Mn in K;MnQO, is

A) +2 B) +4

C) +6 D)0

Which of the following oxides of nitrogen is

coloured?

A) N,O B) N,Os

C) NO D) NO,

Colemanite is an important mineral of.

A) Boron B) Aluminium

C) Gallium D) Indium.

Consider the following pairs:

I. Xrays — Rutherford

Il. Atomic Nucleus — Roentgen.

I1I. Artificial radioactivity — Curie and Juliot.

Which of “the-"pair given above is/are

correct?

A) |only B) Il and IIl only

C) Land Il only D) lll only

Consider the following Statements and

select the correct answer.

I.  The path of a Projectile is a parabola.

Il.  The acceleration due to gravity at the

centre of the earth is zero.
Ill. The gravitational constant does not
have unit and dimensions.

A) Both | and Il are correct but Il is false.

B) Both I and Il are correct but Il is false.

C) LILII all are correct.

D) Both Il and Il are correct but | is false.

What is the relation between the voltage ‘V’

across the ends of a resistor ‘R’ and the

current ‘I’ which flows through it?

A) V=R B) I=VR

C) I=V/R D) V= I’R

Which of the following vitamins are water-

Soluble?

A) Thiamine, Riboflavin, Vitamin-D and
Vitamin- E.

B) Niacin, Vitamin-By,, Vitamin-K and
Vitamin-D.

C) Thiamine,
Vitamin- By,

Riboflavin, Niacin and
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11.

12.

13.

>

D) Vitamin-C, Vitamin-E, Vitamin-K and
Folic Acid.

Match the following:
a) Polydactyly

1.”Y” linked trait
b) Colour blindness

2. Autosomal recessive trait.
c) PKU

3. Sex linked recessive trait.
d) Hairy Pinna

4. Autosomal dominant trait.

Code:

a b c d
A) 4 3 2 1
B) 1 2 3 4
C) 2 3 4 1
D) 3 1 2 4

Match the List | with List Il answer using the
codes given below:
List | List II.

a) Occuancy tenants

1. Extremely weak.
b) Tenants-at- will

2. Permanent and hereditary.
c) Sub- Tenants

3. Temporary Tenants.
d) Intermediaries

4. Absentee land lords:

Code:

a b C d
A) 2 3 1 4
B) 1 2 3 4
03] 4 3 2 1
D) 3 4 2 1

Classify the following elements as

Lanthanides and Actinides.

1. Samarium (Sm).

2. /Uranium (U).

3. Plutonium (Pu)

4. Dysprosium(Dy).

A) Lanthanides Samarium, Dysprosium
Actinides Uranium, Plutonium.

14.

15.

16.

CHENNAI IAS ACADEMY
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B) Lanthanides Samarium, Uranium.
Actinides Plutonium, Dysprosium.
C) LanthanidesDysprosium, Plutonium.
Actinides Uranium, Samarium.
D) Lanthanides Samarium, Plutonium
Actinides Uranium, Dysprosium.
Match the list of radio isotopeswith its uses
given below and choose the carrect answer
using the below given codes.
a) Cobalt 60
1. Fertilizer
b) Aglgl
2. Tophotograph brain tumours.
c) H9197
3. Blood cancer.
d) p32
4, Sterilisation
Codes:

A)

B)

C)

D) 1 3 4

Consider the following statements and

select the correct answer:

Assertion (A) : Sclerenchyma cells provide

mechanic support to the plants.

Reason (R): Sclerenchyma cells have thin

cell wall.

A) Both (A) and (R) are individually true
and (R) the correct explanation of (A).

B) Both (A) and (R) are individually true but
(R) not a correct explanation of (A).

C) (A)istrue but (R) is false.

D) (A) is false but (R) is true.

The nitrogenous bases found both in DNA

and RNA .

l. Adenine and Uracil.

Il. Thymine and Guanine.

1. Uracil and Thymine

P AN
N W hNT
N WDNEFEO
AP wa

V. Adenine, Guanine and Cytosine.
A) | B) Il
) D) IV.
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17. Select the pair, which are dimensionally
alike among the following
I. Product of force and time
II. Product of momentum and time
Ill. Product of Ariel velocity and linear

density

IV. Product of work and time

A) I and Il only B) Il and IIl only
C) llland IV only D) I and Il only

18. Arrange the following in the increasing order

of their penetration powers 22.

I. Alpha rays

Il. Beta patrticles
I1l. Gamma rays
A) I-1I-11

C) lI-11-1

B) 1I-I-111
D) -1l

19. Match correctly the following Lists 1,2,and 3 23.

List 2
(a) White solid
(i) Rocket fuel
II. Basic reducing agent (b) Hydrazine
(i) Habers process

[ll. Explosive (c) Colourless volatile
gas (iii) Hydrazoic acid

IV. Hydroxylamine (d) Colourless volatile
liquid

(iv) Oxidising and

reducing agent

List 1 List 3

I. Ammonia

A) I-b-iii 1l-c-iv  lI-d-ii IV-a-i
B) I-d-I  1l-b-iii 1l-a-ii  V-c-iv
C) l-a-iv ll-c-ii “lll-dsl” 1V-b-ii
D) I-c-ii  l<b-I"""M-d-iii IV-a-iv
20. Fructose-6-Phosphate is also known as 24.

A) Newberg ester B) Harden ester
C) Young ester D) Paranas ester

21. Match List | with List Il and select the
correct answer using the codes given below

the Lists:
List | List Il
a. Fatty substance
1. Pectins

b. Manufacture of ink

CHENNAI IAS ACADEMY
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2. Suberin
c. Nitrogenous waste product
3. Tannins
d. Fruit jellies
4. Alkaloids
a b C d
A) 1 3 4 2
B) 3 4 2 1
C 2 3 4 1

D) 2 4 1 3
Which one of the following cells formed
during gametogenesis is diploid?
A) Primary polar body
B) Spermatid
C)_Spermatogonia
D) Secondary polar body?
Match-Column | with Column Il and 11l and
choose the correct options:-
Column | Column Il Column 1lI
1. Typhoid (a) Haemophilus influenza
(i) Chronic inflammation of the lymphatic
Vessels
2. Pneumonia (b) Trichophyton
(ii) Dry scaly lesions on the skin

3. Filariasis  (c) Salmonella typhi
(i) Alveoli filled with fluid
4.Ringworm  (d) wuchereria malayi

(iv) Intestinal perforations
A) 1-c-iv; 2-a-ii; 3-b-I; 4-d-iii
B) i-c-iv; 2-b-ii; 3-a-iii; 4-d-i
C) 1-c-iv; 2-a-iii; 3-d-I; 4-b-ii
D) 1-c-iv; 2-d-ii; 3-a-l; 4-b-iii
Match List 1 with List 2 and answer through
the codes given below:-
List 1
a. Infrared spectrometer
1. Measures the purity of sugar
b. Polarimeter
2. Test aeroplane surface under
stress
c. Barometer
3. Study of molecular structure

List 2
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25.

26.

27.

28.

29.

d. Strain gauge
4. Measure atmospheric pressure

a b c d
A2 4 1 3
B)2 3 4 1
c)3 1 4 2

D)4 3 1 2

Find out the values of a, b, c and d in the
following equation:- 105 +al~ + bHT -
cH,0 + dlI,

C) a=5Db=6,c=3,d=6
D)a=10,b=12,c= 6,d=6

Find the pH of a buffer solution containing
0.20 mole per litre sodium acetate and 0.15
mole per litre acetic acid given that
dissociation constant of acetic acid is 1.8
x107°

A) 5.8697 B) 5.1303

C) 4.1303 D) 4.8697

Find the incorrect statement(s) from the
clues below:-

() 2,4,5 trichlorophenoxy acetic acid is-a
herbicide

(i) Thallium compounds are fumigants

(iii) Organo phosphorus insectides inhibit
cholinesterase

(iv) Organo chlorine insectides are stomach
poisons

A) (i) and (iii) only B) (ii) and (iii)

C) (ii) and (iv) only D) (iii) and (iv) only
Turpentine is obtained from

A) Pinus.roxburghii

B) Welwitachia mirabilis

C) ginkgo hiloba

D) Cycas revoluta

In human, Prothrombin required for blood
clotting is synthesized in the

A) Spleen B) Stomach

C) Liver D) Thymus

30.

31.

32.

33.

34.

Match List | with List Il and select the
correct option given below:-
List | List I

a. Simmond’s disease

(i) Thyroid gland
b. Diabetes mellitus

(ii) Adrenal gland
c. Cushing’s disease

(iii) Pituitary gland
d. Myxoedema (iv) /Pancreas
A) a - iii, b —iv, c-i, d =i
B) a-ii, b-iv, c-i,d-iii
C) a-iii, b-iv, c-ii, d-I
D) a-ii, b-iv, c-iil, d-i

GROUP —I(A) - 2017

Cyanide resistant respiration is found in

A. Plants only

B. Animals only

C. Both plants and animals

D. Plants and Microbes

Male sex hormone’testosterone’ is produced
by

A. Leydig cells

B. Sertoli cells

C. Germinal epithelial cells

D. Spermatogonial cells

Which one of the following is correctly
matched?

I.  Gregor Mendel — Neurospora
II. T.H.Morgan — Drosophila
lll.  C.B. Bridges — Garden pea
IV. J. H. Muller - Mice
Al B. Il
c. D. IV

In Transmission Electro Microscope (Tem) -

A. Light
C. Electrons

B. Optical lenses
D. Scanner
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35.

36.

37.

38.

39.

The Respiratory quotient value for glucose
is

A. 05 B. 1.0

C.15 D. 2.0

Which one is wrongly matched pair in their
characters?

A) Pancreas —  Glucagon
B) Small intestine —  Stomatostatin
C) Testis —  Estrogen

D) Adrenal gland - Glucocorticoids
Which of the following hormone stimulates
contraction of uterine smooth muscle?
A. Epinephrine B. Insulin
C. Oxytocin D. Glucagon
Despite the substantial improvement in
health conditions of people in India, there
has been certain negative due to
I.  High incidence of HIV/AIDS in rural
areas
II.  High incidence of HIV/AIDS in urban
areas
lll.  Growing incidence of Heart diseases
and cancer in rural areas
IV.  Growing incidence of Heart diseases
and cancer in urbanareas
A. All are correct
B. I and Il correct
C. ll and IV correct
D. I, lll and IV correct
Which one of the following.matches is
correct?

a) Thyroid hormone 1. Ushing’s
disease

b) Insulin 2. Myxedema

c) Corticosteroids 3. Acromegaly

d) ‘Growth hormone 4. Diabetes

(@ () (c) (d)
1 3 4

A NBADN

A

B./2 3 1
C. 4 1 3
D. 2 1 3

40.

41.

42.

43,

44.

45.

projectile motion is a combination of
horizontal motion with constant ----------- and
vertical motion with
Constant ------------
A. Acceleration, velocity
B. Velocity, acceleration
C. Displacement, Velocity
D. Velocity, displacement
Calculate the dimensions of planck’s
constant’h’, using the-equation E=hy, where
E — energy and T — frequency
A. MLT* B.ML?T?
C.ML*T? D.ML? T
Nuclear force is
A. charge dependent
B. spin independent
C. both charge and spin independent
D. spin‘dependent but charge independent
The oxidation of SO 2. to SO 2~ ion by
(S 3 4
oxygen
5023‘ +xC)> — so? , »in this
reationn which is Lewis acid and Lewis

base?
2 —
A. SO 3

Lewis base

is Lewis acid and oxygen is

B. Oxygen is Lewis acid and 8023_ is

Lewis base
C. Both are Lewis acide
D. Both zre Lewis bases
Which one of the organic pesticides that
contain phosphorous?
A. DDT B. BHC
C.2,4-D D. Parathion

Match the following:

a) Mixed fertilizer. 1. DAP

b) Complex fertilizer 2. NPK

c) Bio fertilizer 3. Ol
cake

d) Organic nitrogen fertilizer 4. Algae

(@ (b) (o) (d)
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1 2 3 |4 5 6 7 8 9 10 |11 |12 |13 |14 |15 |16 (17 118 |19 |20
B A |A |C D |A |D|A |C |C A A A B |C D D JA D |A
21 |22 |23 |24 |25 |26 |27 |28 |29 |30 (31 (32 |33 |34 |35 |36.|37. |38 |39 |40
C C c (¢c (B |D |C |A |C |C D |A |B |C |B JC |C/B |D |B
41 |42 |43 |44 |45

B D B |[D |B
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PREVIOUS YEAR QUESTIONS
SCIENCE

Normal temperature of human body is

A) 37°C B) 90K

C) 37K D) 100°C

The general molecular formula of alkynes is

A) Cn H2n +2 B) Cn H2n
C) Cn H2n -2 D) Cn H2n +1
Flavivirus causes

A) Filariasis B) cholera
C) Denguefever D) Malaria

The enzyme used to join the broken DNA
fragments is

A) DNA polymerase

B) Alkaline phosphotase

C) DNA Ligase

D) Restriction Endonuclease

The movements of planets are controlled by
the gravitational force of the

A) sun B) Earth
C) Moon D) Stars
One Horsepower (H.P) is equal to
A) 846 Watt B) 546 Watt
C) 946 Watt D) 746 Watt

If the mass number of an elements'is 16
and the atomic number is 8 then the
number of neutrons is

A) 16 B) 8

C) 32 D) 4

Edible mushrooms.are

A) Agaricus-bisporous B) Rhizopus

C) Mucor D) Neurospora
The method of respiration which takes place
in euglena’is

A).contraction B) Absorption

C) Diffusion D) conduction
Newton’s third law is applicable to bodies
A) at rest only

B) in motion only

C) both at rest and in motion

D) with same mass

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.
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Metal present in blood is

A) Al B) Mg

C) Fe D) Cu
Greenhouse gas is

A) carbondioxide B) oxygen

C) Hydrogen D) Nitrogen
Who is the inventor of steam engine?

A) James watt B) Gopal

C) R. Bhatt D) Mehini sethi
Blood platelets help in

A) Immunity B) Gaseous transport
C) Blood clotting D)‘Acid — base
balance

The unit of radiation exposure is

A) candela B) dioptre

C) Kelvin D) roentgen
pH value of blood is

A) 5.5t07.5 B) 4.5t05.5

C) 7.3to7.5 D) 4.0to4.4

Severe diarrhea is symptom of

A) Tuberculosis B) Cholera

C) Leprosy D) Anthrax

Which one of the following is a short day
plant?

A) Mirablilis

B) Nicollana tobacum

C) Beta vulgaris

D) Spinacea oleracea.

The structure of methane is

A) octahedral B) tetrahedral

C) square planar D) linear

Effective drug for TB is

A) Isoniazid B) Penicillin

C) Azidothymidine D) All of these
Which one of the following is not a kind of
cell of xylem tissue?

A) Tracheid B) Tracheae

C) companion cells D) Wood fibres
Which is the universal donor blood group ?
A) 0 B) A

C)B D) AB
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Which of the following machines is used to
take sectional images of the body ?

A) Endoscope
C) ECG machine

B) Lapreoscope
D) CT Scanner

GROUP =1V - 2012

Haemoglobin is the pigment useful to
transport gases. They are present in Red
Blood cells. Identify the animals which has
blood without pigments.

A) Human B) Birds

C) Earthworm D) Cockroach
Match List | with List Il correctly and select
your answer using the codes given below:

List | List Il
a. cholera

1. Fungi
b. African sleeping sickness

2. Virus
c. Phlegm

3. Bacteria.
d. Dandruff

4. Protozoa.
Codes:

a b c d

A) 3 4 2 1
B) 4 2 1 3
C) 2 1 3 4

D) 1 3 4 2

In Tamil Nadu the‘'most wind forms are with
districts of.

A) Kanyakumari, Coimbatore, Tiruppur

B) Tuticorin, Kanya Kumari, Tirunelveli

C) Neyveli; Kanchipuram, Chennai

D) Coimbatore, Erode, Dharmapuri
How'much current is consumed for a tube
light which has 40W for domestic use?
A)/0.2A B) 0.5A

C)1A D) 5.75A.

28.

29.

30.

31.

32.

33.

34.
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Which endocrine glands is attached to
Kidney?

A) Pituitary gland B) Thyroid gand
C) Pancreas D). Adrenal gland
The opaqueness of the lens of the eye is
known as

A) Retinopathy B) cataract

C) Astigmatism D)Presbiopia

Find out the correct compaosition of honey:
A) sugar, Mineral, pollen, Vitamin

B) Sugar, protein, pollen, Vitamin

C) sugar, Mineral, fat, Vitamin

D) sugar, Mineral, Fat, Amino acid
Inheritance of genetic defects to children
can be prevented by

A) Somatic cell gene therapy

B) Germ,cell gene therapy

C) cloning technique

D) Karyotyping

Consider the following statements:
I.Removal of trees and vegetation would
affect both land and water ecosystems

1. There will be lot of food organisms.

A) lis correct but Il is wrong

B) I is wrong but Il is correct

C) Both are correct

D) Both are wrong

The bottle lid made of cork is viewed with
the help of lens. There are many chambers
in it. This observation by ----------- led to the
discovery of cell.

A) Gregor Mendel B) Charles Darwin
C) Robert Hooke D) Robert brown
Raw materials of photosynthesis are

I. Sunlight, chlorophyll

II. CO,, H,O

. sunlight , biliprotein

IV. H,0, Vitamins

of these
Al &IV B) Il & IV
C)1&ll D) lll & IV
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35.

36.

37.

38.

Match List | with List Il correctly and select
your answer us in the codes given below:

List | List Il

a) Brinjal
1. Legume

b) Apple 39.
2. Berry

c) Pea

3. Septicidal capsule
d) Lady’s finger

4. Pome
Codes: 40.
a b o d
A) 2 4 1 3
B) 4 1 3 2
C) 3 1 2 4
D) 1 2 3 4
Respiratory substrates are 41.
I. Carbohydrates Il.Fats
lll. proteins IV.Vitamins
of these
A) LI, and IV B) I,Il,and llI
C) L lland IV D) LILlITand IV
The role of aluminium in aluminothermic
process is
A) Oxidising agent  B) Catalyst

C) reducing agent D) moderator
Match List | with List Il correctly and select
your answer using the codes given below.
List | List Il

a) Finely divided nickel 42.

1. Oxidation
b) Acidified potassium dichromate

2. Reducing agent
C) Loss of electrons

3. Reduction
d) Gain of electrons

4. Oxidising agent 43.

Codes:

a b c d
A) 2 1 3 4
B) 3 2 1 4
C) 2 4 1 3

D) 1 2 4 3

Green manures can be obtained from which
of the following?

A) Cowdung and plant wastage

B) sun-hemp and cluster bean

C) sun- hemp and-cowdung

D) Cowdung and animalwastage.
Electroplating.is a process of coating one
metal over the other metal by electrolysis in
the electroplating of silver spoon with gold,
thesilver spoon must be taken as

A) cathode B) anode

C) electrolyte D) both (A) & (B)
Which of the following statements is /are
correct?

I. During oxidation, addition of hydrogen
takes place.

1. During oxidation, loss of electrons takes
place.

I1l. During oxidation, gain of electrons takes
place.

IV. During oxidation , addition of
electropositive ion take place.

of these.

A) | & Il are correct B) lll alone is correct
C) Il alone is correct D) | & IV are correct
Which one of the following is correctly
matched?

A) PH value - S.PL
Sorenson

B) Acid - Faraday
C) Battery - Arrhenius
D) Germanium - conductor.

Which one of the following hormones is
called personality hormone?

A) Growth hormone B) Oxytocin

C) Vasopressin D) Thyroxin
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44. Pick out the correct statements: A) Both (A) and ( R) are correct
A) Lightning boil is not hotter than sun B) (A) is correct but (R) is not relevant
B) Lightning boil is 3 times hotter than sun C) (A) is not correct, but (R ) is correct
C) Lightning boil is not hot D) Both (A) and (R) are wrong
D) Lightning boil is very cold.
45. The normal blood glucose level is GROUP — IV —2013
A) 80-120mg/100mI B) 70-110mg/100m|
C) 60-110mg/100ml D) 50-110mg/100mi 50. Consider the following statements:
46. Match List | with List Il correctly and select i. The closure of Atrio ventricular valves
your answer using the codes given below. result in ‘lubb” sound.
List | List Il ii. The closure of semilunar valves results in
a) Fission 1. Yeast “dub” sound.
b) Budding 2. flowering plants Choose the right answer.
c) fragmentation 3. Bacteria A) (i) is correct and (i) is wrong
d) Pollination 4. Algae. B) (i) is wrong.and (ii) is correct
Codes: C) Both (i) and (ii) are wrong
a b c d D) Both (i) and (ii) are correct
A) 3 1 4 2 51. Name the vitamin and minerals necessary
B) 1 4 2 3 for blood clotting
03] 4 2 3 1 A) Vitamin D and Calcium
D) 2 3 1 4 B) Vitamin B and Sodium
47. Which is caused by the gravitational C) Vitamin K and Calcium
attraction between Moon and Earth? D) Vitamin C and lodine
A) Waves B) Tides 52. Choose the correct order of the parts
C) Currents D) Tsunami. marked in the diagram.
48. The common chemical used to purify muddy 5P
water to drinking water is
A) bleaching powder C ! D—i—v
B) Potash alum ~
C) Chlorine dioxide 2 oH—>
D) copper sulphate.
49. Consider the following statements:
Assertion (A) :Reverse osmosis is used to
purify water A) (1) TUC loop (2) Anticodon loop
Reasons(-R) :ltis a membranetechnology (3) DHU loop
filtration method that removesmany types of B) (1) Anticodon loop (2) TUC loop
large' malecules and ions by applying (3) DHU loop
pressure to the solution on one side of a C) (1) TUC loop (2) DHU loop
selective membrane. (3) Anticodon loop
Now select your answer according to the D) (1) DHU loop (2) Anticodon loop
coding scheme given below. (3) TUC loop
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54.

55.

56.

57.

58.

59.

2

Name the gas which is evolved during
photosynthesis.
A) Carbondioxide
C) Hydrogen D) Oxygen
Assertion(A) : To reduce the high tides of
sea during storm oil is poured around the
ship
Reasons(R) : Surface tension of oil is less
than sea water, reduce the wrath of waves.
A) Ais correct R is wrong
B) Both A and R are correct
C) Riis correct A is wrong
D) Both A and R are wrong
The property of attraction or repulsion
between charged bodies is used in
A) A.C. Generator
B) Elecrostatic paint spraying
C) Potentiometer
D) Meter Bridge
The time periods of two simple pendulum are
in the ratio 2:1 . The corresponding ratio of
their length is
A) 4.1 B) 1:4
C)11 D) 1:2
Which of the following statements about
‘Fertilizer’ is TRUE?
I. It should be available in low cost.
II. It should be easily assimilated by plants.
l1I. It should not dissolve'readily in water.
A) I and Il B) Hand Il
C) land Il D) lll only
Identify the odd one.from-the group of
chemicals given below:
A) BHC B) DDT
C) 2,4-D D) Urea.
Match the List | with List Il and select the
correctly matched answer:
List'l List Il
a) Rheumatic arthritis
1. Contagious disease

B) Nitrogen

b) Pellagra
2. Auto immune disease

60.

61.

62.
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c¢) Cholera
3. Hereditary disease
d) Sickle cell anemia
4. Vitamin deficiency disease.
@ () (¢
A) 3 1 2 4
B) 2 4 1 3
C) 2 1 4 3
D) 3 4 2 1
Match the wild Life Sanctuaries in List | with
their locations in List Il
List | List 11
a) Viralimalai
1. Western Ghats
b) Mukkurthi-National park
2. Kancheepuram district
¢) Indira, Gandhi wild Life Sanctuary
3. The Nilgiris
d) Vedanthangal
4. Trichy district

@ (b (o ()
A) 3 1 2 4
B) 4 3 1 2
C) 1 2 4 3
D) 2 4 3 1
Which of the following is referred to as EMP
pathway?
A) Glycolysis
B) Kreb’s cycle
C) Electron transport chain
D) Pentose phosphate pathway
Consider the following statements:
Assertion (A) : Insectivorous plants digest
proteins of insect body.
Reason(R) : Insectivorous plants grown
in Nitrogen (N,) deficient soil.
Select your answer according to the coding
scheme given below:
A) (A) is true but ( R) does not explains ( A)
B) Both (A) and ( R) are true, (R)explains
(A)

www.chennaiiasacademy.com Vellore - 9043211311,

Tiruvannamalai - 9043211411

Page 34




63.

64.

65.

66.

67.

68.

69.

2

C) (A) istrue (R) is false

D) Both (A) and (R) are false

The mixture present in the pencil lead is
A) Carbon and Nitrogen

B) Carbon and Oxygen

C) Carbon and Clay

D) Carbon and Glass 70.

Which of the following statement(s) about
‘acid’ is TRUE?

. It turns blue litmus paper to red.

. It has pH value greater than 7

1l. It reacts with bases to give salt and

water. 71.
A) land Il B) I and IlI
C) lland Il D) lll only

What is the study of Algae called?
A) Physiology B) Phycology
C) Mycology D) Pomology

GROUP -1V - 2014
If power of a lens is -0.5 dioptre focal length
and type of lens is
A) 2 m, concave
C) 50 cm, concave
Find the odd one out:

B) 2 m, convex
D) 50 cm, convex

Related with heat in one action. 72.

A) conduction B) convection

C) Absorption D) Radiation
Match the following:
a) potassium chlorate 1. constipation 73.

b) Epsum salt 2. Match industry
c) copper sulphate.salt 3. crackers

d) potassium nitrate - 4. Fungicids

@ . () () (@

A) 3 4 2 1

B) 2 3 4 1

C) 2 1 4 3

D) 3 4 1 2

Find the correct statements: 74.

I. After the release of the ovum the ruptured
graffian follicle is transformed into corpus
luteum.

CHENNAI IAS ACADEMY
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II. Corpus luteum a transitory endocrine
gland.

A) | wrong Il correct

B) | Correct Il Wrong

C) Both I and Il wrong

D) Both | and Il are correct

Pseudomonas putida a genetically
engineered bacterium was invented by

A) Dr. lan Wilmut

B) Dr. Korana

C) Dr. Chandrasekar

D) Dr. Ananda Mohan chakraborty

point out the-wrong statement/statements in
the following:

i) organismswhich are able to synthesize
their'own food are called autotrophs.

i) organisms which are unable to synthesize
their own food are called heterotrophs.

ii) organisms which are unable to
synthesize their own food are called
autotrophs

iv) organisms which are able to prepare
their own food are called heterotrophs.

A) (i) and (iv) B) (i) and (ii)

C) (i) and (iii) D) (iii) and (iv)
What is the genome of AIDS virus made up
of ?

A) DNA B) RNA

C) chromosome D) Gene

What statements is correct?

|. Eutrophication means natural nutrient
enrichment of streams and lakes.

Il. Water pollution mainly affects the water
based ecosystem.

I1l. The unwanted sound cannot damage
physiological and psychological health.

A) I and IlI B) Il and IlI
C)landll D) lll only
Match the following:

a) Force 1. Watt

b) Momentum 2. Joule

c) power 3. Kg.m.s™
d) Energy 4. Newton.
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75.

76.

77.

78.

79.

80.

81.

@ () (¢ (d)
A 4 1 2 3

B) 3 2 1 4
c) 3 1 2 4
D) 4 3 1 2

Choose the correct one:

If kerosene, water and mercury is taken in a
same glass tumbler, arrange the position of
them from the top to the bottom of the glass
tumbler.

A) Mercury, Kerosene, Water

B) Kerosene, Water, Mercury

C) Water, Mercury, Kerosene

D) Kerosene, Mercury, water

The percentage of Gold in 22 carat is

A) 91.67% B) 75%

C) 67.91% D)96.17%

Find out the calcium compound found on
bones and teeth

A) calcium carbonate B) calcium phosphate
C) calcium chloride D) calcium sulphate
Among the following which one is not an
Insecticide?

A) DDT B) BHC

C) Zinc phosphide D) zinc sulphide
Identify the incorrect pair:

I. Albumin - Water balance

Il. Globulin - Immunity

. Fibrinogen - Blood clotting
IV. plasma - Solid component
Al B) I

o)l D)1V

Which among the following food chain is an
example for Grassland ecosystem?

A) Grass — Deer — Fox — Tiger

B) Grass — Grasshopper — Frog — Snake —
Eagle

C) Grass — Frog — Snake — Elephant
D)/Grass — Cattle — Lion

Which gas is release the refrigerator?

A) CH, B) Cl

C)H; D). CFC

82.

83.

84,

85.

86.

87.

88.
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What is Methylation?

I. A natural process that chemically modifies
DNA.

II. A physically modified process that
converts higher energy to lower energy.

lll. Used as a biological clock.

IV. Used in anaesthesia.

A) | only B) I and'[ll.only

C) Il only D) 1land IV only

GROUP = IV~ 2016

How many electrons are there in one
coulomb charge?

A) 1.6 x 10" electrons

B) 6.25 x 10'® electrons.

C) 6.25'x 10 electrons

D) 1.6 x 10™ electrons.

A'bullet of mass 15g is horizontally fired
with velocity 100 ms* from a pistol of mass
2 kg Total momentum of the pistol and
bullet before firing is equal to.

A) Zero B) 201.5kg ms™
C) 215 kg ms™ D) 200 kg ms™
What is the chemical name of DDT?

A) Dichloro diphenyl trichloro ethane
B) Dichloro diphenyl tribromo ethane

C) Diphenyl dichloro trichloro ethane

D) Diphenyl dibromo trichloro ethane.
What are Microsporum Epidermophyten?
A) Disease causing bacteria in man

B) Disease causing fungi in man

C) Disease causing virus in man

D) Disease causing protozoans in man
Ovulation is stimulated by.

A) LH B) LTH

C) Renin D) Adrenalin
Which gymnospermic plant cures

rheumatism?

A) Araucaria B) Ephedra
C) Gnetum D) Pinus
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89.

90.

91.

92.

93.

94.

95.

96.

A special root-like structure in cuscuta and

viscum is called.

A) Rhiziods B) Haustoria

C) Hyphae D) STolens

If you stand in a rectangular room, where

two adjacent walls are covered with plane

mirrors, the total number of your images will

be.

A) Infinity B)1

C)3 D)0

Audible range of rabbit is

A) 100-32,000 Hz  B) 1,000-1,50,000Hz

C) 1,000-1,00,000Hz D) 900-2,00,000Hz

Why vegetables and fruits turn brown on

cutting?

A) Due to the reaction between phenolic
compound and oxygen in air

B) Due to the formation of inorganic
compound

C) Due to the formation of salts

D) Due to the formation of bases

Among the following which one is not a

biofertilizer?

A) Anabaena B) Nostoc

C) Lindane D) Rhizobium

Consider the statements?

a) Sterility is caused by the deficiency of
Vitamin K.

b) Night blindness is caused by the
deficiency of Vitamin D.

A) Both a and b are false

B) a is false and bis true.

C) ais true and b'is false

D) Both a'and b are true

The valuewhich regulates the blood flow

from right ventricles to the pulmonary artery.

A). Semi-lunar valve

B) Auriculo-ventricular valve

C) Bi cuspid valve

D) Tri cuspid valve.
Match List | and List II:
List | List Il

a) Glycolysis
1. O, is not utilized.
b) Kreb’s cycle
2. ATP are produced
c) Electron transport chain
3. Oxidation of pyruvic acid
d) Fermentation
4. Occurs in cytoplasm.

a b c d
A) 3 4 2 1
B) 4 3 2 1
C) 1 3 4 2

D) 2 4 1 3
97. Which medicine is.known as “THE QUEEN
Of DRUGS”?
A) ATROPIN B) POLYMIXIN
C) STREPTOMYCIN D) PENCILLIN

GROUP - IV_[PRELIMS ] - 2018
SCIENCE

98. Pick out the correct reasons :
Oil mixed with petrol for two wheelers due to
the following reason(s) :
(1) It lubricates the engine parts.
(2) It remove heat inside two engines.
(3) It allows for the deposit of carbon on the
spark plug.
(A) (1), (2) and (3)
(B) (1) and (2) only
(C) (2) and (3) only
(D) (1) and (3) only
99. Match the following
(a) Osmium
1.Best conductor of electricity
(b) Lithium 2. Heaviest metal
(c) Tungsten 3. Lightest metal
(d) Silver 4. Highest melting point —
3300° C

@ () (o (d)
A 1 2 3 4
B) 2 1 4 3
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© 2 3 4 1 (2) Fax machine
(D) 3 4 1 2 (3) Optical transmitter
100. Match List | with list Il correctly : (A) (1) and (2) only
List-I List-I (B) (2) and (3) only
(Solution) (pH value) (©) (1) and (3) only
(a) Blood 1.6.5 (D) (1), (2) and (3)
(b) Urine 2.73-75 105. A man sitting in the revolving chair with
(c) Vinegar 3.55-75 stretched hands, suddenly bend his hands,
(d)Milk 4.24-34 the angular velocity
(@) (b) (© (d) (A) decreases (B) increases
(A) 2 3 4 1 (C) zero (D) constant
(B) 2 4 1 3 106. Which of the following statements is/are
© 4 2 3 1 wrong?
(D) 3 1 4 2 (1) Light year is a unit of time.
101. Match the following : (2) Astronomical unit (AU) is a unit of
Deficiency disease distance.
@A 1. Pellagra (3) Parsec is a unit of mass.
(b) B, 2. Nictalopia (A)(2)and (3) (B) (1) and (3)
(c) Be 3. PerneciousAnaemia (C).(3) only (D) (1) only
(d) By 4, BeriBeri 107. Identify the incorrect pair :
@) (b) (© (d) I. Washing soda
(A) 2 3 1 4 - Na,CO3
(B) 1 4 2 3 Il Bleaching powder
©) 4 1 3 2 - CaO
(D) 2 4 1 3 M. Plaster of paris
102. Which of the following pairs are incorrect? - CaSO%HZO

|.Chloroflurocarbons

_ \VA Baking soda
- Refrigerators

- NaHCO;
II.Methane . . (A) | @)1
_ g Ploughing of Fields ©) (D) IV
lll.Nitrous Oxide 108. What are the chemicals present in match

- Enteric fermentation in cows
IV.Carbon dioxide
- Burning of fossil fuels

stick?
(A) Red phosphorous, glue, sulphur
(B) Antimony sulphide, sulphur, potassium

ORE)T Gt

(©) an. . (B) I'an _ (C) Antimony sulphide, red phosphorous,
103. ‘The respiratory quotient of glucose in glue

anaerobic respiration is (D) Antimony sulphide, phosphorous,

(A) One (B) Four sulphur

() _Inflnlty ) (©) I__ess than one_ 109.1. Amnion provides a fluid medium for the
104. Which of the following devices converts light embryo

signals into electrical (or) electronic signals? 2 The Chorion and Allantois fuse to form

(1) Digital camera pl-acenta
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3.Yolk sac provides a fluid medium for 111. Which is an example for chemosynthetic
embryo heterotroph?

Choose the correct : (A) Man (B) Viscum

(A) 1 and 2 are wrong (C) Nitrosomonas (D) Beggiatoa

(B) 1 and 2 are right
(C)2 and 3 are right
(D) 1 and 3 are right
110. Which group of plants species are lower
number in the plant kingdom?
(A) Fungi (B) Pteridophyta
(C) Bryophytes (D) Gymnosperms

TNPSC —GROUP — V- PREVIOUS KEYS — SCIENCE

1 2 3 4 5 6 7 8 9 10 |11 |12 |23 |14 |15 |16 |17 |18 |19 |20

A C C A A D B A C C C A A C D C B C B A

21 |22 |23 |24 |25 |26 |27 |28 |29 |30 |31 |3233 |34 |3 |36 |37 |38 |39 |40

C A D D A B A D B A B A C C A B C C B A

41 |42 |43 |44 |45 |46 |47 |48 |49 |50 /|51 |52 |53 |54 |55 |56 |57 [58 |59 |60

C A D B A A B B A B C A D B B A A D C B

61 |62 |63 |64 |65 |66 |67 |68 |69 |70 |71 |72 |73 |74 |75 |76 |77 |78 |79 |80

A B C B B A C C D D D B C C B A B D D B

8l |82 |83 |84 |8 |8 |8 |8 |89 [90 |91 |92 |93 |94 |95 |96 |97 |98 |99 |100

D B B A A B A c B C C A C A A B D B C A

101 | 102 | 103 | 104 | 105 | 106 | 107 | 108.| 109 | 110 | 111

D B C A B D B B B B A
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